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All creatures, (past and present,) / either have gone // or will go extinct. / (21742} $ixH2|), ZE MEEL2, / 0|0] ARFIAL
/] =2 BESH E Ao|ct.

All creatures, past and present, either have gone or will go extinct. Yet, as each

species vanished over the past 3.8-billion-year history of life on Earth, new ones Yet, / as each species vanished / over the past 3.8-billion-year history (of life on Earth), / new ones inevitably

inevitably appeared to replace them or to exploit newly emerging resources. From appeared / to replace them / or to exploit newly emerging resources. / J2iLt, / 2{2t0| ZE0| A2 Z40f| 2} / (X| 74 A
only a few very simple organisms, a great number of complex, multicellular forms =2|) 389} HOI2H= Aol 2H, // M2 2 SS0| 2UHMCZ SHH &It/ 0ISS US| 2Bl / 2 MZ0| Aot XS 28| 2I8h.

From only a few very simple organisms, / a great number of complex, multicellular forms evolved over this

immense period. / 535! 01 B0t RIMZRE], / AL 0] S ChIZH ZEWVH O] LSt 7[2F SoF Tisksh 2T

evolved over this immense period. The origin of new species, which the nineteenth-

century English naturalist Charles Darwin once referred to as “the mystery of . . . . . . .
The origin (of new species), / which the nineteenth-century English naturalist Charles Darwin once referred to / as

mysteries,” is the natural process of speciation responsible for generating this “the mystery of mysteries,” / is the natural process of speciation (responsible for generating this remarkable

remarkable with whom humans share the planet. diversity of living creatures (with whom humans share the planet)). / (22 Z2|) 7|212, / 19M|7| YZ2| X[ISHKIQI AA
Although taxonomists presently recognize some 1.5 million living species, the actual CHI0| g3 / (1M7L 0| AE2| 2| D|AEzZ[2tT, / ((QIZH0] X 7S e BR3te) O] S2H2 MEHIEC| CIAs Wists g 2
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number is possibly closer to 10 million. Recognizing the biological status of this
Although taxonomists presently recognize some 1.5 million living species, // the actual number is possibly closer

to 10 million. / HIZ 2FSIXIS0| ¢4 1502H2] WESH= S5 QIE0I ASKELE, / HEH XAk= Of0t= HYHo| o 7Pk ZOIEt.

multitude requires a clear understanding of what constitutes a species, which is no

easy task given that evolutionary biologists have yet to agree on a universally Recognizing the biological status (of this multitude) / requires a clear understanding (of what constitutes a

acceptable definition. species), / which is no easy task // given that evolutionary biologists have yet to agree / on a universally
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When an organism is alive, it takes in carbon dioxide from the air around it. Most of
that carbon dioxide is made of carbon-12, but a tiny portion consists of carbon-14. So
the living organism always contains a very small amount of radioactive carbon,
carbon-14. A detector next to the living organism would record radiation given off by
the carbon-14 in the organism. When the organism dies, it no longer takes in carbon
dioxide. No new carbon-14 is added, and the old carbon-14 slowly decays into
nitrogen. The amount of carbon-14 slowly (A) as time goes on. Over time,
less and less radiation from carbon-14 is produced. The amount of carbon-14
radiation detected for an organism is a measure, therefore, of how long the organism
has been (B) . This method of determining the age of an organism is called
carbon-14 dating. The decay of carbon-14 allows archaeologists to find the age of
once-living materials. Measuring the amount of radiation remaining indicates the

approximate age.

(A) (B)

(@ decreases dead

@ increases alive

® decreases productive
@ increases inactive
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When an organism is alive, // it takes in carbon dioxide / from the air (around it). / 747} &0t US [, // T2 0|2zt
EAS HFolCt / (FH2]) 37|22E.

Most of that carbon dioxide is made of carbon-12, // but a tiny portion consists of carbon-14. / 1 O|A3IEFAO| CHEE
© EHA2Z O|R20{K QIC} // 2Lt AZFS EFAI4Z MEICE

So the living organism always contains / a very small amount of radioactive carbon, carbon-14. / [i2tA &0} Q=
71Mli= ML TP / O H2 | ALY BIAQI EHA4E,

A detector (next to the living organism) / would record radiation (given off by the carbon-14 (in the organism)).
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When the organism dies, / it no longer takes in carbon dioxide. / 2 S7|x7t £2H, // 3242 4 0
X| Q4=L

No new carbon-14 is added, / and the old carbon-14 slowly decays into nitrogen. / O{l{ot {22 EtAM4E FILE|X| QEQ
04, // 7|1&Q| Etatd= TS| SU=|0] ZAZ HHRICE

The amount (of carbon-14) slowly (A) decreases / as time goes on. / (EtA142]) Q2 G| (A) LASICH// ARIO| X4E.
Over time, / less and less radiation (from carbon-14) is produced. / A|ZH0| S2FN| / (EIA4ZEE) MH O M2 QFo| ghA}
O] LHEICE

The amount (of carbon-14 radiation (detected for an organism)) / is a measure, therefore, (of how long the
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This method (of determining the age (of an organism)) is called carbon-14 dating. / ((R7|#|2]) YILHE AFEH=) 0|24t
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The decay (of carbon-14) allows archaeologists / to find the age (of once-living materials). / (Et2149|) £1= 105Xt
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All of us inherit something: in some cases, it may be money, property or some object
— a family heirloom such as a grandmother’s wedding dress or a father’s set of tools.
But beyond that, all of us inherit something else, something

something we may not even be fully aware of. It may be a way of doing a daily task,
or the way we solve a particular problem or decide a moral issue for ourselves. It
may be a special way of keeping a holiday or a tradition to have a picnic on a certain
date. It may be something important or central to our thinking, or something minor

that we have long accepted quite casually.

@ quite unrelated to our everyday life
@ against our moral standards
(® much less concrete and tangible

@ of great monetary value

inherit 2242/Ct in some cases 2= property it family heirloom 7t2  beyond ~ 0[2/0| be aware of ~S QIA6ICt

daily task 2eX0l Y, 0 Sk= 2 particular £&¢t casually 82  unrelated F2ot concrete 74X tangible 720!
monetary 250!
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All of us inherit something: // in some cases, / it may be money, property or some object / — a family heirloom
(such as a grandmother’'s wedding dress or a father’s set of tools). / 22| 5= offH HS Sa{et=r|: // 2E, / =, st
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But beyond that, / all of us inherit something else, / something much less concrete and tangible, / something (we
may not even be fully aware of). / SIX|2t 1121 0]2|0f, / 22| 2= CHE 28 S2fEh=C}, / 20 2 45012 2 | A, / (d
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It may be something (important or central / to our thinking), / or something minor (that we have long accepted

quite casually). / 222 (EROPLE SHO| El= / R2| A0]) Z0[7L, / (27 eSOt OFF 2T OFSQ!) Akagh A = QUCK.
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